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I BEDE

1. REVEE
HEES 2,167,554 2,206,345 A 38,791
RENEERE 2,167,554 2,206,345 A 38,791

2. EAEEE

(1) EAREAE
EHTEE 3,012,000 3,012,000 0
EARMESE 3,012,000 3,012,000 0
() EEE

HERILEE 23,573,056 23,573,056 0
HEEESE 23,573,056 23,573,056 0
BIE&EESE 26,585,056 26,585,056 0
BESE 28,752,610 28,791,401 A 38,791

I REDER
B8ES&E 0 0 0
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1. $RE IEBREL 2

FHitE 26,585,056 26,585,056 0
IEEERKRBIE & ET 26,585,056 26,585,056 0
OLERMEADFTZHEE) 3,012,000 3,012,000 0
OLEEEEANDFTEHEE) 23,573,056 23,573,056 0
2. —RRIERRBAE 2,167,554 2,206,345 A 38,791
OLERME~ADT L) 0 0 0
OLBEEE~DFEHE) 0 0 0
IERBAEE & & 28,752,610 28,791,401 A 38,791
BERVEKRMESE 28,752,610 28,791,401 A 38,791




